in#2 1/0 #&Hk REMOTE 1/0 MODULE

R~FE Drawing

IN6
+24V

A

IN5

“

M12 B2 R 5 5t

3 Benefits

11 |

60
46

31.6

M12 R~TE

SVLEC IR HLA B &ER, LU R AR /24 M PROFINET, Ethernet/ IP, EtherCAT, EH#HHK
NERE, SHHET P67 BiiPE RSN R, RBRARERREAR, BRRFHFONELE,

4 =EWik16 M HFERE

2 Rt HAENAKRESEER

5 EABAREW IO mAGREINGE

3 HAPHEBEXEEINCEER

6 TERESHEBET2RESR

BARSH

I ARSHETAT (FESKRE)

8 x M12

4 LED #57R4T

i S ETHE AT (1d3k)

48 LED $#R4T

BHIR U,

< 12A

SRR Us

<12A

P &R A IEC 60529

IP 67 ( IERfZE#EA )

TIERE T, -25..+60 °C
R -40...+85 °C
— 3 RETL

Rt (kx®Ex5)

182 x 60 x 32 mm

SMER R

PC/ &S

1.2.1

ILIE /O HEHR



ImFE 1/O B

iF2 I/0 3R ( Tul4h5E ) REMOTE I/O MODULE

PIRIOIF] ! B "
EtherNetv1P
NIEIT conformance tested

FtherCAT ™ DeViceNet.

CCONFORMANCE TESTED

BIERE
RHETL
PONELPN A M%iH D-Coded
D-Coded
FERAT TR
WERDFF X

HiE#H Y T-Coded BHH
A% L-Coded £+

HEiE#N T-Coded 2N
A% L-Coded /A ¥

R/ PUTHR BT TE

EERERSEE .
-M12 82K
EEREETR
BA7k. B, BRiPELR
IP67 ( £ )
LANTag =y
2L

1.2.2



5’ B AL 2B
SVLEC

L2 /0 R ( $¥& € E$5M% ) REMOTE I/O MODULE

PIRIOJF] | M "
EtherNetvIP
NIE]IT conformance tested

FtherCAT. * DeVNiceNet.

CCONFORMANCE TESTED

BRERKE

LA M % D-Coded

IVENTE PN
D-Coded

FERAT

ToEEM=

MERDFF R

iR T-Coded £
A% L-Coded £H&

fRRER / BUTHRAEE TH

RN T-Coded A1
A% L-Coded /A ¥

EIEREERE.
-M12 B2iE =R
FEERERETR
BAk. BAd, BAIRELR
IP67 ( £ )
¥R E
R

1.23



T2 1/O 5B M ACCESSORIES S Bussm

Bk JUREE 4 E % Cable OD. iT%%5 Part No.

RJ45 i@, CAT 5 BRiligisk, FTELIHEEL Male, Field-Terminable
Straight, 4-pole, IP20, shielded 6.5...6.9mm 999051

RJ45 i@, CAT 5 BRiligisk, FTELIHIEEL Male, Field-Terminable
Straight, 4-pole, IP20, shielded 6.5...6.9mm 999061

RJ45 N #E, CAT 5 Rigifk, AIIIZ3EE Male, Field-Terminable
Straight, 4-pole, IP20, shielded 6.5...6.9mm 999161

M12 #&$t, 12$TE#E, 1/O #0O Female, screw terminals
Straight, 4-pin 6...8mm 912701

M12 #E$t, BiE#EDO, 12$T/E# Female, screw terminals
Straight, T-coded, 4-pin 8...10 mm 912744

M12 $57., HiE#EO, 184T/E#E Female, screw terminals
Straight, T-coded, 4-pin 8...10 mm 912932

7/8" fE§t, HBiRE#EEO, 12$T/E# Male, screw terminals
Straight, 4-pin 8...14 mm 978101

7/8" #EFL, HBIE#EO, 124T/E# Female, screw terminals
Straight, 4-pin 8...14 mm 978221

M12 $&§t, $24T/E#E Male, screw terminals
Straight, D-coded, 4-pole, shielded 6...8mm 914521

M12 $HFL, #2$T/E#E Male, screw terminals
Straight, D-coded, 4-pole, shielded 6...8mm 914621

M12 #H§t, #24T/E#E Male, screw terminals
Angled, D-coded, 4-pole, shielded 6...8mm 914581

M12 & RJ45 iEALEE ,M12/RJ45, CAT 5, female to female
Angled, D-coded, 4-pole 9450120002

M12-2M12, Y BliE$#EES, Female, flange
Y type connector, 4-pole 941121

1.2.7

IR 1/O HEHRE 4



2 I/0 R E

A}

— Ja
72 1/0 #=IR M ACCESSORIES
£tH) Pole F4 Cable iT#%5 Part No.
e, BINBRMFIES Female, flange BlEL%E 914541-790-XxxX
Straight, 4-pole HESESTH 914541-796-xxxX
M12 $#EETEEdRST, BIMMHTH BL%E Male, flange Bl E L 944511-790-xxxx
Straight, M12-M12, 4-pole HEsEHTH 944511-796-XXXX
M12 f&$HEE RJ45, EIFMHTAHEL Female, flange BERE 9447 11-790-xxxx
Straight, M12-RJ45, 4-pole st H 944711-796-XXXX

M12 f&$t, EBIRFHIEL Male, flange
Straight, T-coded, 4-pole

R#. BlERE
B, sk
FEREH. BERE

913044-902-xxxx
913044-901-xxxx
912044-960-xxxx

M12 #7l, EIEFHIEY Female, flange
Straight, T-coded, 4-pole

Rk, BlERE
R, HEsETHE
R BAERE

913344-902-xxxx
913344-901-xxxx
912344-960-xxxx

M12 f&$tEE M12 §&7L, ERIENIHFHIEY Female, flange
Straight, M12 Male T coded-M12 Female T-coded, 4-pole

R#. BlERE
B, sk
FEREH. BERE

943044-902-xxxx
943044-901-xxxx
942044-960-xxxx

7/8" #Fl, BIEFFIELSE Female, flange
Straight, 7/8" Female , 5-pole

R BERE

978021-960-xxxx

7/8" f&§t, FBIEWFIEYE Female, flange
Straight, 7/8" Male , 5-pole

. BIERE

978031-960xxxx

7/8" FEstEEHRTL, BIENSTHELY Female, flange
Straight, 7/8" Male - Female , 5-pole

FEF. BIERHE

950021-960-xxxx

M12 fEEtEE 7/8" #RFL, EBIEMWimFFIELE Male & Female, flange
Straight, T coded-7/8", 4-pole / 5-pole

Rk, BRI
R, HEsETHE
R BERE

943071-902-xxxx
943071-901-xxxx
94207 1-960-xxxx

M12 #EFLEE 7/8" #lst, IR ImTRHIESE Female & Male, flange
Straight, T coded-7/8", 4-pole / 5-pole

R, BIERE
Rk, EsnA
. BIERE

943074-902-xxxx
943074-901-xxxx
942074-960-xxxx

M12 f&$t, 1/O OB imHH B4 Male, flange 3-poel 912001-XXX-XXXX
Straight, 3-pole, 4-pole, 5-pole 4-poel 912021-XXX-XXXX
* BRBMIRIEREEN 5-poel 91204 1-XXX-XXXX
M12 f§tEE M12 #67L, /O O HHHIELE Female, flange 3-poel 94000 1-XXX-XXXX
Straight, 3-pole, 4-pole, 5-pole 4—poel 94002 1-XXX-XXXX
x BRRBYHIETERE SN 5-poel 94004 1-XXX-XXXX

1.2.8



